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GEOGRAPHY HSSC-II
SECTION — A (Marks 17)

Time allowed: 25 Minutes

NOTE: Section—A is compulsory . All parts of this section are to be answered on the question paper itself.
It should be completed in the first 25 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C/ D. Each part carries one mark.

(i) Which of the following continents is crossed by the tropic of Capricorn?

A, NorthAmerica B.  Asia C.  Australia D.  Europe
(ii) Most of the European continent lies within the

A Temperate Zone B. Frigid Zone

C. Torrid Zone D. None of these
(iii) Which of the following deserts is located in South America?

A Sahara desert B. Gobi desert C. Kalahari desert D. Atacama desert
(iv) "The highest Alpine summit in European continent is

A Tirichmir B. Mount Blane C. Fiji D. Kosiasko
{v) Annual population growth rate is lowest in the continent of

A Europe B. Asia C. South America D. Africa
{vi) The major part of Pakistan experiences

A Humid conditions B. Arctic conditions

C. Dry conditions D. None of these
{vii) Which of the following is the longest river of European continent?

A Rhine B. Volga C. Rhone D. Dneiper
{viii) In China, the highest concentration of Tea Plantation occurs in

A Mongolia B. Manchuria C. Tibet D. Szechwan Basin
{ix) Which of the following is a “Rabi” crop in Pakistan?

A. Wheat B. Cotton C. Rice D. Maize
{x) The most striking and distinctive relief feature of African continent is

A Plateau Region B. Atias Mountains

C. Inland Basins D. None of these

{xi) Which of the following continents is called the “Home of the Blizzard”?

A Asia B. Antarctica C. Africa D. South America
{xii) The “New England” area of cotton textile is located in

A UK B. France C. USA D. Italy
(xiiiy ~ What is the best description for the relief of Australia?

A, Vast Plains B. High Mountains and Plateaus

C. Low mountains and low table-lands D. Low table-lands and vast plains

(xiv)  The continent of Asia borders Europe along the

A. Atlas mountains B. Ural mountains

C. Zagros mountains D. Kirthar mountains
(xv) According to 1998 census, the Urban population of Pakistan was

A 32.5% B. 28.3% C. 67.5% D. 55.5%
(xvi)  The total area of China covered by mountains is about

A 10% B. 20% C. 33% D. 55%
(xvii)  Warm, snow eating wind blown in the continent of North America is calied

A Bora B. Mistral C. Sirocco D. Chingok

For Examiner’s use only:
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GEOGRAPHY HSSCHII

Time allowed: 2:35 Hours Total Marks Sections B and C: 68

NOTE: Answer any fourteen parts from Section ‘B’ and any two questions from Section ‘C’ on the
separately provided answer book. Use supplementary answer sheet i.e. Sheet-B if required.
Write your answers neatly and legibly.

SECTION — B (Marks 42)
Q.2 Answer any FOURTEEN parts. The answer to each part should not exceed 3 to 4lines. (14 x 3 =42)

(i) Write down the salient features of Great Barrier Reef of Australia.

(i) Name any three states of common wealth of Australia.

(iii) Write a short note on Africa Rift Valley System.

(iv) How is the spring wheat belt different from the winter wheat belt in USA?

(v) List the Kharif (summer) crops of Pakistan.

(vi) What is Pamir Knot?

(vii) Write any three characteristics of Canadian Shield.

{vili) Name three sources of rainfali in Pakistan.

(ix) Explain briefly, why the eastern part of China is densely populated region than her western part.

(x) Give any three reasons for the rapid growth of population in Pakistan.

(xi) Name any three non-conventionai sources of energy in Pakistan.

(xii) Wirite down the names of the oceans labeiled I, Il and ill, in the following world map, on your answer
book:

xit)  When and where was the first Nuclear Power Plant of Pakistan established?
xiv) Name the three rivers flowing into the Mediterranean Sea or Black Sea.

Xv) Name any three cotton producing regions of USA.

xvii)  Who are Bedouins?

(
(
(
(xvi)  Write a brief note on “Oil Refining Industry of Saudi Arabia”.
(
(xviiij Name any three countries having trade relations with China.
(

xix)  Write briefly about Amazon Basin located in the continent of South America.

SECTION — C (Marks 26}
Note: Attempt any TWO questions. All questions carry equal marks. (2x13 =26)

Q.3  Describe the distribution of population in Pakistan. Also point out the factors affecting this distribution.
Q.4  Write a detailed note on Iron and Steel industry of USA.
Q.5 Give a detailed account of physiography of the continent of Asia.
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